MTH 1126 Practice Test #1 2 - Solutions
SPRING 2017

Pat Rossi Name

Instructions

Solutions appear on the SOLUTIONS page.
1. [ (22" +62% + 3z + 6y/7 +2) dv = 22° + 32 + 32% + 42? + 20+ C
2. [(2cos (z) + 5sec? (z)) do = 2[sin (z)] + 5 [tan (z)] + C
3. [277 (227 + 32 + 2) da = 20
4 [ (203 +22)° (322 + 1) de = & (20° +22)° + C
5. [cos (3z%) wdx = {sin (32?) + C
6. [ gitgde = $1In[32? + 6|+ C

7. 4 [In(cos (z))] = — tan (z)

8. g [In (502 + 52)| = 255

9. % [ln (acx/oc2 — 1)] =14 =

x

10. szzol (m2 + 1)3 rdr = %

_ 1
11. Zi\/m

12. [sec® (z) tan (z) do = § sec® (z) + C

3t2 _ (943 3
13 f(%gﬂ)%dt_(% +1)? +C

4. [ \;%dx = —2(cos (x))% +C =—-24/cos(z)+C

(a) In(3) ~ -0.3
(b) In(72) ~ 4.3

(c) In(81) ~ 44

16. [ 3627282 gy — 210|627 — 72| + C

63 —Tx?

ec0s(32) - 1 cos(3z
17 fmdx__ge Bz) L ¢



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

d g, /32241 _ 3¢ 3a®
da 20542 | = 32241 24572

(a) In(§) ~ 0.8

(b) In(81) =~ 4.4

(¢c) In3=~1.1

dx

% [[ln (4335 — 3;62)]] -

fe(313+612) (31:2 + 4ZU) der = %6(3134-(%2) + C

dx

d |:etan(3z2):| = 6z sec? (31:2) etan3x2

20z —6x
T 4a5—3x?

dx = ﬁln|4$3+6x2|+c

2 [6(41273;1;)} = (82— 3) o(4a”—32)

[ srgde = ftan™! (%) + C

f %dw = %tan_l (629:) +C

2z

f \/ﬁd@? = %Sin71 (€2x) +C
A Jeos™ (32)] = _\/%W

f \/e2+775dx = % SeC_1 (%) +C

£ Tarccot (32?)] = — 1+6g§$4
z=1/1+ (42)® = VI + 1622



